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No aids permitted except for English language dictionaries without any marking.

There are 25 different exercises on this exam. Make sure that this copy of the exam is
complete and write your matriculation number and your name into the appropriate fields on
top of this page. Work on all 25 questions. Do not mark more than one possible answer
otherwise it is considered false. For every correct answer you obtain two points. For every
false answer one point is subtracted. If no answer is marked you neither obtain nor loose a
point. In order to pass this exam you need at least 25 points.

1. Economists only analyze situations in which the scarce goods involved are

a)  privately provided goods.
b)  publicly provided goods.
c¢) either privately or publicly provided goods.

2. Normative economics is concerned with

a)  the identification of policies leading to welfare gains.
b)  policy recommendations based on value judgements.
¢) the explanation of economic situations.

3. The following diagram depicts the production possibility set, its frontier and some
outcomes. Which statement is true?

Luxury Goods

»

Necessities
a) A and B are both efficient.
b)  E is more efficient than D.
¢)  Bisn't a technologically feasible consumption choice.



10.

By the elimination of a negative production externality through a government an economy

a) becomes less efficient.
b)  extends is production possibility frontier.
¢)  moves closer to its production possibility frontier.

If the factor input prices of all suppliers in a given market decrease sharply it is most
likely that the equilibrium market price in the short run

a)  increases.
b) falls.
C) remains constant.

Since the market equilibrium price of the pizza market increased while the demand curve
remained unchanged, the supply of pizzas must have

a) increased.

b) decreased.

c¢)  responded in a way which cannot be predicted from the price
movement alone.

In the short run the existence of price caps generates

a)  always a market equilibrium where demand equals supply.
b) always some form of rationing.
c)  sometimes some form of rationing.

If a profit-maximizing firm observes a price elasticity of its demand curve equal to 0.95,
an increase in price leads to

a) higher revenue.
b) lower revenue.
c) unchanged revenue.

Suppose the marginal product of songwriter Robbie is constant and equals four songs per
week. If he works for three weeks then he produces

a) exactly twelve songs.

b)  anumber of songs which cannot be inferred from the information
given.

D c¢)  either more or less than twelve songs.

Joey can substitute three washing machine hours for six hours of washing by hand while
producing the same number of cleaned shirts. A labor hour costs €6 while employing a
washing machine hour is priced at €10. If Joey wants to minimize costs he should

b)  only employ laborers.
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E] a)  only employ washing machines.



1. If marginal costs increase and always exceed average costs, then average costs

a)
b)

c)

Increase.
decrease.
either increase, remain constant, or decrease.

12. The following graphic depicts a cost-minimizing input factor choice. If the price of
aluminium decreases by 15% and the price of steel decreases by 20% due to fiercer
competition in input markets, then a cost-minimizing firm should

a)
b)

c)

13. If the revenue of a profit-maximizing monopolist exceeds the firm's total costs, then the

¢ Xsteel

Cost-minimizing input mix
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increase its use of aluminium and decrease its use of steel.
increase its use of steel and decrease its use of aluminium.
not change its input mix.

firm should in the short run

a)
b)

c)

don't touch the level of production.
increase its level of production.

gather additional information if it wants to decide rationally
on its level of production

14. If there are five firms in an industry each having the same market share. Then the
Herfindahl-Hirschmann-Index is equal to

a)
b)

c)

20.
2.000.
cannot be calculated from these information alone.

15. What completes a true statement? In an industry characterized by monopolistic
competition where each monopolistic competitor maximizes its profit

a)
b)

c)

firms earn economic profits in the long run.

firms earn economic profits in the short run and in the long run.

firms don't earn positive economic profits in the long run.



16. If there are 5 firms in the industry and market shares are 5%, 10%, 40%, 15%, 30% the 3-
firm-concentration ratio

a) equals 85%.
b)  equals 70%.
] ¢) equals2.850.

17. Two companies merge. The CEOs Schmidt and Jones suggest both simultaneously and
independently where to locate the merger's new headquarter. The following strategic form

results:
Schmidt
. Utility of
London Berlin Schmidt
-5 0 -
London Utility of
Jones
Jones 15 0
0 0 10
Berlin
0 10
Mark the correct statement:
a)  There is no Nash-equilibrium.
b)  The unique Nash-Equlibrium is that both suggest Berlin.
¢)  Neither Schmidt nor Jones has a dominant strategy.
18. Consider the following strategic form:
Player 2
Utility of
L R Player 2
-1 V1 ity of
U
Player 1
Player 1 L -1
y 1 -1
D
-1 1

Mark the correct statement:

a)  There exists no Nash-equilibrium (in pure strategies).
b)  There exists a unique Nash-equilibrium in dominant strategies.
¢)  There exist four Nash-equilibria (in pure strategies).

19. If inflation in consumer goods is measured using a Laspeyres-index then it is usually

a) underestimated.
b) overestimated.
c) precicelv meaciired




20. Mark the correct statement:

l:] a)  Ifaconsumer good is inferior then its quantity demanded increses as its
price increases.

D b)  If the price of any good increases then its quantity demanded always
drops.

D ¢) Ifaprice increase leads to an increase in demand then it must be inferior

21. il consumes 10 bars of chocolate which is priced at €1 per bar and 5 bags of peanuts
priced at €2 per bag on a weekly base. She is willing to exchange three bars of chocolate
for one bag of peanuts and vice versa while her utility remains unchanged. If she wants to
maximize her well-being subject to her budget for sweets fixed at €20 then she should

a)  buy more chocolate and less peanuts.
b)  buy less chocolate and more peanuts.
¢)  not change her consumption pattern.

22. If John's marginal utility of consuming chocolate is 8 and the marginal utility of
consuming peanuts is 10 then utility-maximizing John should

a)  buy more peanuts and less chocolate.
b)  not change his consumption pattern.
¢) equalize marginal rates of substitution and relative prices.

23. The following figure depicts a typical Edgeworth-box. Mark the correct statement:

A
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a)  There is no Pareto-improvement possible.
b)  Allocation X is Pareto-efficient.
c)  Allocation X is not Pareto-efficient.




24. Suppose that the economies Potterville and Fantasia are both closed, i.e. there is no trade
between those economies (or with any other one). In Potterville and Fantasia the two
goods brooms and crystal balls are produced with labor being the only factor of
production. The following table summarizes the available production technology in each
economy:

Necessary Labor for Production
[labor hours]

In Potterville In Fantasia
1 broom 4 6
1 crystal ball 2 2

If both economies engage in trade in the absence of any transaction costs (such as costs of
transportation), the principle of comparative advantage predicts that

D a)  Potterville specializes in the production of brooms and imports crystal
balls from Fantasia.

D b)  Potterville specializes in the production of crystal balls and imports
brooms from Fantasia.

[:] c) there is no trade because it is not beneficial to Potterville.

25. Today's value of receiving €100 in one year from now where the current rate of interest is
given by 25% is

a)  impossible to calculate with the given information.
b) equal to €75.
c) equal to €80.
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